Note on an open question regarding an integral inequality

Badr eddine Meftah

University of Guelma

Khaled Boukerrioua

Univrsity of Guelma E-mail: khaledV2004@yahoo.fr

Abstract

In the paper "Improved Answers To An Open Problem Concerning An Integral Inequality" published in Mathematica Aeterna, Vol. 2, 2012, no. 4, 321 - 324, an open question was posed. In this short paper, we give the solution of the mentioned paper.

Mathematics Subject Classification: 26D15

Keywords: Integral inequalities, Aritmitic-Geometric Mean Inequality, solution of open problem.

1 Introduction

The following problem was proposed in the paper [2]:

Problem 1.1. Assume constant $\gamma > 0$. Let $f(x) \ge 0$ be a continuous function on [0, 1] satisfying the inequality

$$\int_{t}^{1} f^{\gamma}(x) dx \ge \int_{t}^{1} x^{\gamma} dx, \forall t \in [0, 1].$$

$$(1.1)$$

Does the inequality

$$\int_{0}^{1} f^{\alpha+\beta}(x) \, dx \ge \int_{0}^{1} x^{\alpha} f^{\beta}(x) \, dx \tag{1.2}$$

hold for $\alpha \ge 0, \beta \ge 0$ and $\alpha + \beta < \gamma$?. In the present paper, we give the solution of the problem presented in [2].

2 Main Results

We firstly introduce the following lemmas, which are useful in our main results.

Lemma 2.1. (*The Aritmitic- Geometric Mean Inequality*)Let $X_1, X_2, ..., X_n > 0, \alpha_{1,\alpha_2, \ldots, \alpha_n} \ge 0$ and $\sum_{i=1}^n \alpha_i = 1$ then

$$\sum_{i=1}^{n} \alpha_i X_i \ge \prod_{i=1}^{n} X_i^{\alpha_i} \tag{1.3}$$

In [3], the following Lemma was proved

Lemma 2.2. Let f(x) be continuous and not identically zero on [a, b], differentiable in (a, b), with f(a) = 0, and let α, β be positive real numbers such that $\alpha > \beta > 1$. If

$$\left[f^{\frac{\alpha-\beta}{\beta-1}}(x)\right]' \ge \frac{(\alpha-\beta)\beta^{\frac{1}{\beta-1}}}{\beta-1}$$
(2.1)

for all $x \in (a, b)$, then

$$\int_{a}^{b} [f(x)]^{\alpha} dx \ge \left[\int_{a}^{b} f(x) dx\right]^{\beta}$$
(2.2)

Now we give answer to the posed problem.

Theorem 2.3. Assume constant $\gamma > 0$.Let f(x) be continuous and not identically zero on [0, 1], differentiable in (0, 1), with f(0) = 0, satisfying

$$\int_{t}^{1} f^{\gamma}(x) \, dx \ge \int_{t}^{1} x^{\gamma} dx, \forall t \in [0, 1],$$
(2.3)

$$\left[f^{\frac{\gamma-2(\alpha+\beta)}{\alpha+\beta}}(x)\right]' \le \qquad \qquad 2\frac{\gamma-2(\alpha+\beta)}{\alpha+\beta}, \qquad (2.4)$$

$$1 \leq \int_{0}^{\gamma} f^{\alpha+\beta}(x) \, dx \leq \frac{\gamma}{\alpha+\beta} - 1. \tag{2.5}$$

Then

$$\int_{0}^{1} f^{\alpha+\beta}(x) \, dx \ge \int_{0}^{1} x^{\alpha} f^{\beta}(x) \, dx, \qquad (2.6)$$

holds for every real number $\alpha \ge 0$ and $\beta \ge 0$, such that $\frac{\gamma}{\alpha+\beta} > 2$.

Proof. For every $\alpha \ge 0, \beta \ge 0, \gamma \ge 0$, by The Aritmitic- Geometric Mean Inequality, we get

$$\frac{\alpha}{\gamma}x^{\gamma} + \frac{\beta}{\gamma}f^{\gamma}(x) + \frac{\gamma - (\alpha + \beta)}{\gamma} \ge x^{\alpha} f^{\beta}(x) .$$
(2.7)

Integrating both sides of the inequality (2.7), we further have

$$\frac{\alpha}{\gamma} \int_{0}^{1} x^{\gamma} dx + \frac{\beta}{\gamma} \int_{0}^{1} f^{\gamma}(x) dx + \frac{\gamma - (\alpha + \beta)}{\gamma} \ge \int_{0}^{1} x^{\alpha} f^{\beta}(x) dx .$$
(2.8)

Using (2.3), we obtain

$$\frac{\alpha+\beta}{\gamma}\int_{0}^{1}f^{\gamma}(x)dx + \frac{\gamma-(\alpha+\beta)}{\gamma} \ge \int_{0}^{1}x^{\alpha} f^{\beta}(x)dx , \qquad (2.9)$$

By using Theorem (2.3), taking into account that $\frac{\gamma}{\alpha+\beta} > 2 > 1$ and from (2.4), we have

$$\int_{0}^{1} f^{\gamma}(x)dx = \int_{0}^{1} \left[f^{\alpha+\beta}\right]^{\frac{\gamma}{\alpha+\beta}}(x)dx \le \left[\int_{0}^{1} f^{\alpha+\beta}(x)dx\right]^{2}, \qquad (2.10)$$

from (2.9) and (2.10), we have

$$\frac{\alpha+\beta}{\gamma} \left[\int_{0}^{1} f^{\alpha+\beta}(x) dx \right]^{2} + \frac{\gamma-(\alpha+\beta)}{\gamma} \ge \int_{0}^{1} x^{\alpha} f^{\beta}(x) dx , \qquad (2.11)$$

by (2.5), we deduce that

$$\left[\int_{0}^{1} f^{\alpha+\beta}(x)dx - 1\right] \left[\int_{0}^{1} f^{\alpha+\beta}(x)dx - \frac{\gamma}{\alpha+\beta} + 1\right] \le 0, \qquad (2.12)$$

that is

$$\left[\int_{0}^{1} f^{\alpha+\beta}(x)dx\right]^{2} - \frac{\gamma}{\alpha+\beta}\int_{0}^{1} f^{\alpha+\beta}(x)dx + \frac{\gamma}{\alpha+\beta} - 1 \le 0, \qquad (2.13)$$

then

$$\left[\int_{0}^{1} f^{\alpha+\beta}(x)dx\right]^{2} + \frac{\gamma}{\alpha+\beta} - 1 \le \frac{\gamma}{\alpha+\beta}\int_{0}^{1} f^{\alpha+\beta}(x)dx, \qquad (2.14)$$

the inequality (2.14) can be written as

$$\frac{\alpha+\beta}{\gamma} \left[\int_{0}^{1} f^{\alpha+\beta}(x) dx \right]^{2} + \frac{\gamma-(\alpha+\beta)}{\gamma} \le \int_{0}^{1} f^{\alpha+\beta}(x) dx, \quad (2.15)$$

Summing up the two inequalities (2.11) and (2.15), we get the result. \Box

References

- K. Boukerrioua and A. Guezane-Lakoud, On an open question regarding an integral inequality, JIPAM. J. Inequal. Pure Appl. Math., 8, 3 (2007), Art77.
- [2] F. Qi,A.J.Li,W.Z.Zhao,D.W.Niu, And J. Cao, Extensions of several integral inequalities, JIPAM. J. Inequal. Pure Appl. Math., 7, 3 (2006), Art. 107.
- [3] Qinglong Huang,Improved Answers To An OpenProblem Concerning An Integral Inequality,Mathematica Aeterna, Vol. 2, 2012, no. 4, 321 324.

Received: August, 2012

596